FASIT MNFMA108

Véaren 1999

Oppgave 1

2 fora=0,5=1

a) Rang 4 = { 3 ellers

b) 1 lpsning for 3 # 0,1
¢ losning for ¢ = 0,2 # 1
¢ losning for s = 1,8 0
oo losninger for s=Dogt =1
oc lpsninger for s=1o0gt =10

Oppgave 2
4
a) dim1, basis {| ~5 |}
1
2 foram~2
b) Rang ‘4*{ 3 for ast -2

Oppgave 3
a) L 2 500, K > 1000, L+ K < 3000 og L300 + K/400 < 8
b) Maks for L = 600, K = 2400. Fortjeneste = 3120 kr,

Oppgave 4
8) Pu(N) ={z~1)(z—p+q), P= [ . -1 }
Oppgave 5

a) z? +2zy ¢yt —z =0

b} =~z

Oppgave 6
U= 1/\/5{ i _1 ] egenverdier 1//2(i + 1)

Oppgave 7
a) Basis: {{é J;)].[? é}}

<) dim = 4(rn + 2)(n - 1)

Viaren 1998

Oppgave 2

92 (3 M o-[1 o8]

R, = *U,Snu - 0, ToHy =125

b) H, = ~Rg+ 1.5H, =50

Oppgave 3

a) =1 ‘lﬂ:spau{[
Az =2 %_:span{[

1
11}
1
i
0
-1

L)

-1

1 0
c) z(t) = Cre™ [ D:l + Cae® [ 1 ] + Cqe™t
-1

Oppgave 4
41z? — zy + 34y = 50

]






